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ΑΣΚΗΣΗ	
  1	
  –	
  ΤΥΧΑΙΑ	
  ΜΕΤΑΒΟΛΗ	
  
Στο	
  παρακάτω	
  σχήμα	
  παριστάνεται	
  η	
  αντιστρεπτή	
  μεταβολή	
  στην	
  οποία	
  υποβάλλονται	
  
n=4/R	
  mole	
  ιδανικού	
  αερίου	
  (R	
  η	
  παγκόσμια	
  σταθερά	
  των	
  ιδανικών	
  αερίων	
  σε	
  j/mol.K).	
  
Α.Να	
  αποδείξετε	
  ότι	
  ΤΑ=ΤΒ	
  
Β.	
  Να	
  υπολογίσετε	
  το	
  έργο	
  που	
  αντάλλαξε	
  το	
  αέριο	
  με	
  το	
  περιβάλλον	
  του	
  κατά	
  τη	
  
μεταβολή	
  αυτή.	
  
Γ.	
  Να	
  αποδείξετε	
  ότι	
  η	
  μέγιστη	
  θερμοκρασία	
  που	
  αποκτάει	
  το	
  αέριο	
  κατά	
  τη	
  μετάβασή	
  
του	
  από	
  την	
  κατάσταση	
  Α	
  στην	
  κατάσταση	
  Β	
  ισούται	
  με	
  Τmax=900K	
  	
  
	
  

	
  
	
  
	
  

ΑΣΚΗΣΗ	
  2-­‐ΚΥΚΛΙΚΗ	
  ΜΕΤΑΒΟΛΗ	
  1	
  
Ορισμένη	
  ποσότητα	
  ιδανικού	
  αερίου	
  βρίσκεται	
  αρχικά	
  σε	
  κατάσταση	
  Α	
  (ΡΑ=3atm,	
  
VA=4L,	
  TA=300K)	
  και	
  υποβάλλεται	
  στις	
  παρακάτω	
  διαδοχικές	
  αντιστρεπτές	
  
μεταβολές:	
  
Α→Β	
  Ισοβαρής	
  εκτόνωση	
  μέχρι	
  διπλασιασμού	
  του	
  όγκου	
  
Β→Γ	
  Ισόχωρη	
  μεταβολή	
  μέχρι	
  την	
  αρχική	
  θερμοκρασία	
  
Γ→Α	
  Ισόθερμη	
  μεταβολή	
  μέχρι	
  την	
  αρχική	
  κατάσταση	
  
α.	
  Να	
  σχεδιάσετε	
  τη	
  κυκλική	
  μεταβολή	
  σε	
  διαγράμματα	
  p-­‐V	
  και	
  p-­‐T	
  
β.	
  Να	
  υπολογίσετε	
  τη	
  μεταβολή	
  της	
  εσωτερικής	
  ενέργειας	
  του	
  αερίου	
  σε	
  κάθε	
  
επιμέρους	
  μεταβολή.	
  
Γ.	
  Να	
  υπολογίσετε	
  το	
  ολικό	
  έργο	
  και	
  την	
  ολική	
  θερμότητα	
  που	
  αντάλλαξε	
  το	
  αέριο	
  με	
  το	
  
περιβάλλον	
  κατά	
  τη	
  διάρκεια	
  της	
  κυκλικής	
  μεταβολής.	
  
Δίνονται:	
  ln2=0,7,	
  1atm=105N/m2	
  	
  	
  Cv=3R/2	
  
	
  

ΑΣΚΗΣΗ	
  3-­‐	
  ΔΙΑΔΟΧΙΚΕΣ	
  ΜΕΤΑΒΟΛΕΣ	
  
Ποσότητα	
  ιδανικού	
  αερίου	
  βρίσκεται	
  σε	
  κατάσταση	
  Α	
  ,	
  πίεσης	
  pA=8atm	
  ,VA=2L,	
  
θΑ=1327οC.	
  To	
  αέριο	
  υπόκειται	
  σε	
  αντιστρεπτές	
  μεταβολές:	
  
Ισόθερμη	
  μεταβολή	
  μέχρι	
  την	
  κατάσταση	
  Β	
  (VB=2VA)	
  και	
  στη	
  συνέχεια	
  ισόχωρη	
  
μεταβολή	
  μέχρι	
  την	
  κατάσταση	
  Γ,	
  πίεσης	
  pΓ=pA/4.	
  
Α.	
  Να	
  υπολογίσετε	
  την	
  απόλυτη	
  θερμοκρασία	
  στη	
  κατάσταση	
  Γ.	
  
Β.	
  Να	
  σχεδιάσετε	
  τα	
  διαγράμματα	
  p-­‐V,	
  p-­‐T,	
  V-­‐T	
  για	
  τις	
  μεταβολές	
  Α→	
  Β→Γ.	
  
Γ.	
  Να	
  υπολογίσετε	
  το	
  ολικό	
  έργο	
  και	
  την	
  ολική	
  θερμότητα	
  που	
  αντάλλαξε	
  το	
  αέριο	
  με	
  το	
  
περιβάλλον.	
  
Δ.	
  Να	
  υπολογίσετε	
  τη	
  μεταβολή	
  της	
  εσωτερικής	
  ενέργειας	
  του	
  αερίου	
  από	
  την	
  
κατάσταση	
  Α	
  στη	
  κατάσταση	
  Γ.	
  
Δίνονται:	
  Δίνονται:	
  ln2=0,7,	
  1atm=105N/m2	
  	
  	
  Cv=3R/2	
  
	
  



ΠΕΙΡΑΜΑΤΙΚΟ	
  ΛΥΚΕΙΟ	
  ΠΑΝΕΠΙΣΤΗΜΙΟΥ	
  ΠΑΤΡΩΝ	
  	
  	
  ΣΧΟΛ.	
  ΕΤΟΣ	
  2015-­‐16	
  

ΦΥΤΤΑΣ	
  ΓΕΩΡΓΙΟΣ	
  –ΘΕΡΜΟΔΥΝΑΜΙΚΗ	
  	
  	
  	
  2015-­‐16	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  


